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1 REVISED COURSE ]
4Hours - - Total marks : 80
NOTE.:. -
1) Question No. | is compulsory.
i1) Attempt any three out of the remaining five questions.
iii)  Figure to the right indicates full marks.
iv)  Assume suitable data if required.
Q.1 Work out the quantities of following items from giveﬁ plan & section. (G, O 20

-4 Eve vation for footings
b) Brick work (C:M= 1:6) in supel <tructure of ground tioor

~_ ¢)_Concrete (M20) in footings =
d) 20 mm thick Extérnal plastering i E=l4-upto terracedevel. %

Q.2 A). What is tasK work? Illustrate with an example. Pesform rate analysis tor LICR & 7
masonry in cement mottar 1.6 b . € -
B). What is the difference between briet specification and detgi:l_éﬁd specification of an S
item? Explain with an example. Foogw - |
C). Define mass diagram. Explain the use of mass diagram i

B

Q.3 A). Enlist different methods of calculating approximateﬂegiﬁnate with suitability? Prepare 8
an approximate estimate of cost for (G+2) RCC fl’ﬁn‘lgéa?&[l‘tl(.‘lLlfe building. There are four
flats on each floor and having carpet area of 1200, scftieach Consider cost of construction

JJJJJJ

of super structure = Rs. 850/sqft. Assume Other re}ciii..iiii‘ed data.

B). Explain in detail the différent types-of tenders with: suitability and-advantages. 3
Q). What is the purpose of rate ‘analysis? -Prepare the abstract of items of question 4
pnumber.0l e - el

Q.4 A). Aconcrelc mixture was purchased f{}rRs 60 lacs. Assuming the salvage of Rs. 3 lac ©
at the end of 11 years, Galculate bock value and depreciation at the end of first live vears
by constant percentage methed. 1 = " ' LA |

o H,

B).What 1s a contracthWhat are-the different types of civil enuineering contract”? State the 9
suitability ofiltem raie contract. How does the contractor quote the rate and get payment
i item rate contract? N LR | *' : | |

C). Enlist-diflerent methods for valuation ol lund? Cxplain Beling nethod of valuation
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Q.5 A).[Determine :ha quantities of earthwork for the portion of a road between chainages 20 |0
and 60.from the following data, _le_ngth,,béing measured with a stundard 20 m chain:-
: ] AT n - S

l : el 5 ] n " _ _ ' — 1‘
chaigage | 50 | 51| 3% 53 |, 54 | 55} 36} 37 | -8 \] 5o b
113006 | 1304 1 1200 1 1205 11297 é

t Gl | 1311|1312 130.9 ] 1312 113058 130.

5 N O, T DA e o T AL i 1 : . - i

- -;~~_l-'f‘q . ' . ' : . . 22 AR . ,'i -y TN . - % a T " N '

[he formation level at chainage 50 1s 130.0 and the road 1s ina nsing oradient of 110 200.
b C width of formatign is 10 m.and g,lidt;_s‘lq.p;e s Ll in cmbankment and 101 in cutting.

ihe lateral slope of the-ground may be assumed as level.. Calculate also the cost ol this

earthwork in bank and cutting. Acsume sutable rates and also drasy the mass Jdtaerin,
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B). For a beam of span 5 0 m1 ahd cross secnon 230 mm x 500 mm, is s reinforced with 2- 6

12@ at top and 4-16. @ at bottom out of wh1oh two bars' are bent-up and stirrups 8 @ (¢ @

150 ¢/c. Calculate the quantlty and cost of matena s (Steel, cement sand, aggtegates)
C). Write a note on Ib 1200 Pl el o T | .

Write short notes on (any ﬁve) E [TER - ' 20
a.-Role of a quantity surveyor L:r d Arbltratlon

b.-Price escalation clause of contract s Tecluucal sanctlon

c.-Eamest money deposit s - !“f.- Difference between center line methodiand

o | I long wall short wall method

.
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